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Identify from the following species in whichhybridizotion IS shown by
central atom.
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Choose the incorrect pair from below pairs:

@ Haber process — Iron
(B) Polyethene — TiCl,/AI(CH,);

@ Wacker process ‘_';glg (PO\UJLY

@ Photography - AgBr
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The total number oflnon-polarymolecule are

H,0, CO,, SO,, CH,, NHg, BF5, CHCI; | H,. H—F
1 N £ NP p NP f NP P
—+ F A
o =C — = \I tH— H— /\
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Which of the following group hasconfigurotion?

™)

(8
©

Cr, Cd, Cu, Ag
Cd, Cr, Ag, Zn
AQ, C_r Cu, Zn

Cu, Cd, Zn, Ag

\

U |44 [ 34

@\7 Cy Aa Auv Pt Mo Ry R&
<o

—
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The value of magnetic moment for the complex is [Pt(NH;)Cl,(CH NHQ)]
T
i) e (:
2+ So(&)
N9
R S-p (dspy)
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How many of following ions has/have noble gas configuration? ( 1)

A
Sr2t Cst, Yb?t La?2t

R% @\—) [xe ) €s® sd

Ined) ?au& LG

O Ce —, (Xe') 63 54! 4%'

®W’\"[X<7($l 7(
O \3[7(@ 68*

Sce q,}('q\



JEE MAIN 2024 s PAPER DISCUSSION

Assertion: Ce%* have inert gas configuration. - C¢— (xe] 6s” Af 'sd’
Reason: Convert to Ce** because it is strong oxidizing ogent/

o-A- Ce ter — Cc+3
@ Both A and R are correct and R is the correct explanation of A.

Both A and R are correct, but R is not the correct explanation of A.

@ A IS correct but R Is iIncorrect

@ A IS iIncorrect but R is correct
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Phenolic group can be identified by a positive

@ Carbylamine test K— VK,
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Products for the below reaction are: oM / Cl’fj— ]C H— oH
CH}

1 OH
(c .(CH,),C-OH @ .(CH,),C-OH
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Which type of protein structure can not be denaturized by heating.

(&) 1 protein .~
2° Protein
(©) 3°protein
(o

4° Protein



JEE MAIN 2024 = .-+ PAPER DISCUSSION

The Second Homologue of monocarboxylic acid is

(&) cH,cH,cooH
) (H—¢ o
@ HCOOH & "

@ CH4COOH

@ CH4CH,CH,COOH
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b2 1%, l”ko j CH=CHy CH,— CH,

» Final Product

(iii ) Mg /DE
@/(H CH, CH, @(ll CH, CH, OH \j

A\
The final product of the reactions sequence = AL AT oY
VY
Ph- = cn—Chr, V0 R— R/
i "

Ph—-CH, — CH =CH, — B0 % [0 J
M%/f (
CH,-CH,—-CH,—-ClI (H CH,—CH, 0 )
JOSEENE JOLIES:
) > H

> R Moy — B4
H Jr'
R (H’\\OH %w oS
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Identify B formed in this reactign sequence.

NH
Cl - (CH,)~Cl ——% A (hoet B + H,O + NaCl
o ©)
_ C L . . . @)
ST T Gt (M K, U
@ cr ~u,-(cn,), - NHCT (B) L J
N
|

H

@ NHz—(CH2)4—NH/ @ CN —NO
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Which of the following will not give SN'.
®
(A) Ph-cH,-Cl
@
@ CH,=CH-CH,~ClI

@ (HsC)c-Cl
S

N )
@ CH,-CH=CH=ClI
=
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Lo ¢ H]\g 2
Consider the following sequence of reactions. /\

: - T
x () CHMgBr <, (HSO,) ., 0 U

The compound (X) cannot be: O @

® (T m‘ SOy
® (I ® (Y
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Compare the stability of resonating structures.

J = &
CH;-C-OH< CH; -C=0H < CH; - C OH
H T
- 0" 0°
\gm (II) (IIT)
@ 1> 11> 1l I>E>Ef

e

@ o> n N
@ 1> 1> 1
@) 1> 1> 1
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How many compound(s) given below have chiral carbon? QQ>
O O O
® (L ® Y
CH,
1
H
@ . @ CH, -CH, - C COOH
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The reagent which can be used to distinguish acetophenone from
benzophenone is

i
@ 2, 4-dinitrophenylhydrazine ﬁj\ CH,

Aqgueous solution of NOHSO, O\\A\\@
O

@ Benedict reagent

@/@nd Na,CO;| 1{ | “a\iH’
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The technique used for purification of steam volatile water immiscible
substance is:

@ Steam distillation
@ Simple distillation
@ Fractional distillation

@ Distillation under reduce pressure
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What is the bond line structure of (OH)CH(CN),

OH
® on-on ® A, O
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When 9.3 g of Aniline IS reacted with acetic anhydride, mass of acetanilide
obtained is m d out V@Iue of 2m. o m -

M, — & cOCl | t - 155 ¢
H, (O f]\/u 0CH, oxlfs‘ 6
<O) '! > )O ol
]
%’O',me{ = @.,m(’,f_————-? O X135 :lg";?‘m.
4}
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O
— ok —F— -0 2 U«e} 2
W+ (/Q\M‘éﬂ"——qz-ﬁf. HL.
| T
_UHZ__ J/ Q_NM‘Q—%\/
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The quantity which changes with temperature is

@Moss percentage /)ngc om - Tinm WLCQ n vzr?- MMM
Yomd - dihandond
@ Molality - W\f? M

Molority
@ Mole fraction
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Which of the following can not act as an oxidising agent?

k,: radvce ¢l —— 0K
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p—
S

/1

The time taken tomplete 99.9% of a first order reaction is ‘X’ times hoI,P IBe.

SaTe D' EN—— X1y 0643
{—M q/—Jr.MJm\% +o c—vm?){e‘h 99 reaction '0( ﬁ\k
ot amtud = 01
2 230
5, ﬂ%w s
) 2}\0},45 ALl
L (.
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Lngoh line = Lﬂj:ok L
If longest wavelength for Paschen Seriesjin H-atom Is «. Find a/7R.

7\\——3/' )/\Z:L[-_-—OO _ ————o——"‘é(
- _ T = ) =
| | MUK — i = =
1 oe() |2 i _v
P o
= R Xt
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For hydrogen electrode the reduction potential o r\)wm{f {,bl« .
+ -
‘)7

= i 1y
14 L o M
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Total translational kinetic energy in calorie of 1 mol of oxygen at 27°C.

fdof KE = DYV :/57<Z7<ZDO = oo ¢l
,

@) 900 5
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The threshold frequency of metal with work function 6.63 eV)is (x x)I0'* sec™

{h = 6.63 x 10734 J sec}, then find ‘x'? RY
é//\ 6/\\0 ——6/7<\0 x Vo
\70 A GMD

Y
161D = X0
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The volume of NaOH in dm?® of 3 M NaOH solution contain 84 g of NaOH.

)

28
m
40
28
84
120

48

84

Mﬂmg -

w%JL<w&Q}L

\/Dl' % golup '\uUC’

st
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Coefficient of x2912 in (1 — x)2008 (] + x + x2)2007
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3—asinx—bcosx—loge(1+Xx) .

lim IS non zero finite find 2b — @

Xx—0 3tan?x

® -
®) -
® -
(@) 9
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dy _ (x+y-2)
dx N X—y

... find solution of this differential equation.
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If tan-1x + tan~' 2x = g then find number of solutions.
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If the mean of 15 observations are 12 and S.D is 3 But the replace of
12 write 10 then the new mean is u and varies is ¢? then what is the

value of 15 (u + u2 + o2)
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(- 2o

Evaluate: — —
tan—? (x3+;§)(l +(x3+x—3—) )

@ None of these

1 — Al & _
@ §log tan™ " | x +x—3 + C
1 i 1)
@ Elog tan‘l(x3+x—3)
1 | |
@ Zlog tan‘l(x3— ‘

ol &
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Determinant, interval of a. Angle bisector of the given points with
same z coordinate. tan'x + tan™?x = 1, no of solutions for positive x.
Image of a point wrt x line and which point from give passes
through. Summation k/2% from 1 to n where n was found from

another solution.
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The position vector of the vertices A, B, C of a triangle arc 21 + 3j + 3k,

21 — 2] + 3k, —1 +j + 3k respective dy. Let | denotes the length of the

angle bisector AD of ZBAC where D is on the line segment BC, then
21 ? equails.



JEE MAIN 2024 = ««» PAPER DISCUSSION

If 20t term from the end of the progression

20,19+,18-,17=....,-129+ is
@ -0
® -
® =
® -
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Difference of subsets of 2 finite sets with m & n elements, is 56 then
find distance between (m, n) & (-2, —=3).

® o
® -
® -

@) None of these
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8 __vi
The integrolf X)) _dxis equal to:

(x12+43x6+1)tan™? (x3 +——.-)

"
'1 1 ‘
@ —Inl{ltan”{x*+—= ] ]| + C
3 X3
) 1
@ In (tan“ (x3 +—;)> +C
=

:)+(:

1 . |
@) aln (tan’l (xg + 7)) +C

x-
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If 2tan? 6 — 5 sec 6 = 1 has exactly 7 solutions in [0,?‘ for least value

of n e N, then 2;% is equal to
®

® -
® -
® .
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1 j—i - ";{;2, and y(0) = 2, find y(2).




An urn contains 6 white and 9 black balls. Two successive draws of
4 balls are made without replacement. The probability that the first
draw gives all white balls and second draw gives all black balls is:

()

©
C)
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2
335
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If a, B are the roots of x? — x + 1 = 0 then the value of
Sn = 2023a" + 20248" is



20+ 2j+k,i+2j+2k and 2i+j+2k.let I, I, and |; be lengths of
Perpendicular drawn center of the triangle on the sides AB, BC and

_[:ZZ!_
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12

CA respectively then [ -
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Let the image of the point (1,a,7) in the Ilne = %1 “~ be the point

(o, B,Y) then which one of the following ponnts lie on the line passing

through (a,B,y) then which making angles ,— & X with y-axis and
z Axis respectively and an acute angle with x — cms?

@ (1213
(3,4,3 — 2V2)

@ (3,—4,3 + 2V2)

@ (1,—2.14+2)
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A is the area of region 0 <y < min (2x, 6x — x2), then find 12A.

(A) 304
® 302
©) 288
® 312
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Equation of tangent to circle (x — )2 + (y - B)2=50isx +y = 0.
If distance of point of contact from origin is 4v2 find (o + B)2.
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The point P on the parabola y? = 4ax for which |PR — PQ| is maximum,
where R(—q, 0), Q(0, a) is
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There are four boxes A, A,, A; and A,. Box A, has i cards and on each

card a number is printed, the numbers are from 1 to i. A box is

selected randomly, the probability of selection of box A, is 11—0 and

then a card is drawn. Let E; represents the event that a card with
number ‘i' is drawn. P(A/E,) is equal to:

® .
© (®

N[ = B
Wi W =
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If%+ xy = x3y3,y(0) = 1,then y(7) equals
@) 1/50

® so

© s

®
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If f(x) = mox{emx COSX, 2} then the area of the region bounded by the
curves y = f(x), x-axis, y-axis and x = 2n is

51

@ (12 + 3) $qg. units

— +/2 )sq. units

(
(

+V2 + \/—) Sq. units
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A circle cuts two perpendicular lines so that intercept on each of the
line is of given length.
The locus of the centre of circle

CA) a hyperbola of eccentricity 5/4

a hyperbola of eccentricity v2

@ an ellipse of eccentricity 4/5

@ a parabola
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. sin(cos™'x)- —k :
if Tim SRS _ —k thon the value of k is
1 1-tan(cos™1x) 2

@ -
®

© -
® va
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If f aoy - %logelsin?;xl N %logelsinSXI +C, then |p - g| is equal to

sin %xsme

(where C is constant of integration)

(A
® -
(c
()
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/2
i o 4 sin?-nx1 th .
= | i ok en a, — a,, a, — a,, 8, —a, are in
(A) AP

® cr
© Hr
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If the point (a,a? + 1) lies between the lines joining the points (-3, 10),
(-1,2) and (0, 1), (%1—90) then find the values of a.

@ (=0, —3) U (=1,0) U (%oo)

@ (—o0,—-3) U (—1,0)
CC) (0,1) U (%, oo)

@ None of these
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Solve the differential equation (x2 - 4)dy - (y2 - 3y) dx =0
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Ais a2 x 2 matrix, I is 2 x 2 identity matrix. |A - xI| = 0 has the roots -1, 3.
Then the sum of diagonal elements of A2



0<a<1,f

T

(A) T+ a?
. T

(B) 1+ a“

® ~.

®
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0

= value of the integral

1-2acosx+a“
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Forx e (0, 3)
o(x) = 3f (g) + f(3—x)and f"” (x) > 0 vx € (0,3),

If g(x) is increasing in (o, 3) and decreasing in (0, a) then find «.
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let f:R — {—%} — R and g:R —{—g} — R be defined as f(x) = Zi‘:’ and
|x|+1

2X+5

then the domain of the function f(g(x)) is:

g(x) =

@ -

® |

\ J

® -3
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Considering the principal values of inverse trigonometric functions
the positive real values of x satisfying tan™' x + tan™' (2x) = _ is:

@) \/52— 1

n V17 + 3
® —

y  V17-3
© —.
V5 +1
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Find the area bounded by:

0 <y <min{2x, 6x — x2}






